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To describe “The “PARADOXICAL” Situation” begin with the excerpt as below copied from the Reference: [image: image1.emf]
[image: image3.emf][image: image2.emf]
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Equation 1





Equation 2





In equation 1 above ELoc on the Left Hand Side of the equation, obviously depends on the value of P for estimation. And, in equation 2, the value for to is to be estimated from the value of ELoc.





If P is related to Emac (instead of to ELoc in equation-2) which is the applied field, then the paradoxical situation would not be posed. The paradox is that ELoc is a field which is a value including the effect of P, and hence to know ELoc for equation 2 the value of P must have been known already.








